EE B>

* /N EEE— R 3.1 x25+2=32875 312 x 258 = 8.0496x10* (F5 ¥ FR)

* I EE—F 3.1%x25+2 _3_ RS ¥ER) 3.1x25+2= 3% (H#573 B2oR)

* XK E O E 3.12949846 x 2.58641 157 = 8.0942 (5 #7)
3.12949846 x 2.58641157 = &8.09417102524118 (1 5#7)
3.12949846 x 2.58641157 =8.09 NS LLT 2 #7)
3.12949846 x 2.58641157 =8.09417 NS LLT 5 A7)

*HAEF SO 3.1x2.5+4.54+8.9=10.62222222 3.1 *2.5/4.5+8.9=10.62222222

*ARENEBHOK ! 123456789123456789123456789 % 234567890234567890234567890
= 28958998559823207090687415563633627032769418501905210

1234560000000000 x 2345670000000000 = 2.895870355 x 10°°
2190 — 1267650600228229401496703205376

* 5y HEH 35 4L
R Al Lx[3+3><{i><( - 3) +6}] 6ﬁ (B a)
3 4 13 5304
1 3 13_7+3 7% 3845
— X 3+3>< — X - —|—6 :67 (ﬁ%ﬁ‘)j)
3 4 13 12 5304
* P E 5.3%9%-1 006693127 5.3793420.567213037113908
— RS EL A A S 3 Ny g
*L— RS A GG W3 4507 x N 120 + 4256 =69.43102851 (G AELf7)

N24508=11W2  N2x3W 2+ 5/ 3=A15+6  Cicsfig)

*EHEH (111000),+(101011), =(1100011),  (7777)¢ + (2011)4 =(12010),
(FFF),, - (11A),, =(EE5),, 16 x 16 =256 =(100000000),=(400),=(100)
*ESTFET 30045227 +40°55'49" = T1°41'11"  (EHH)  sin0.8=53°08" (EE4Y)
sin'0.8=53°07'48"37  (Frsyfb. Bhoo /gLl Foky)  sin0.8=53°  (Jir)
* 3HIXEIY  123,456.3 x 789,456.9 =97,463,427,883.47

BB DB -D=10 GT_ | 410206857034707x1071%  (EEHLL 0)

o 2
» L e
N-15] <e2> 1 - j4.10206857034707x 10710 (EHRAE D)
*E R A TR
1000 1 2 3 15
=0.999000999 > 2 Z Imn =127 [Tn= 1307674368000
n=1 n(n—l- 1) I=1 m=l n=m n=1
! | 456 x 789 - 12345 x 899 | = 10738371
xdx=0.5
10! = 3628800 1oP,=90 sC,=10

J 35 K 5 05 iRt 120=2°x3x5 60x2=2%x3x5 1024000 =23 x 5°



